Pied Piper, 3415 El Camino Ave Sacramento, CA 95821, **Pulled**: 12/08/2025 05:50:59 **Settings: Date Range**: 12/01/2025 - 12/07/2025 Taxcode: All Taxcodes Employee: All Employees **Menu Categories**: Alcohol Beer Cigarettes Default Category Merch Non-Alcoholic Snacks Wine Uncategorized

Medit Vocation (Medit Vocation) 55.00 111.0 55.00 55	Item	Item Price	Quantity Sold	Average Price	Total Options	Total \$ Sold	view transactions
Michelob Ultra	Well Vodka (Well Vodka)	\$5.00	121.0	\$5.00	\$0.00	\$605.00	View Transactions
Jameson \$7,00 700 \$7,00 \$0,00 \$480,00 Mew Transactions	WELL VODKA	\$5.00	113.0	\$5.00	\$0.00	\$565.00	View Transactions
COORS T STL SS.00 S7.00 SS.00 S0.00 S335.00 New Transactions	Michelob Ultra	\$5.00	79.0	\$5.00	\$0.00	\$395.00	View Transactions
Section Sect	Jameson	\$7.00	70.0	\$7.00	\$0.00	\$490.00	View Transactions
Second S	COORS LT BTL	\$5.00	67.0	\$5.00	\$0.00	\$335.00	View Transactions
Caradore Repo	BUD BTL	\$5.00	63.0	\$5.00	\$0.00	\$315.00	View Transactions
Titos \$7.00 28.0 \$7.00 \$0.00 \$196.00 View Transactions	Bud Draft	\$4.00	51.0	\$4.00	\$0.00	\$204.00	View Transactions
BUD LT BTL S5.00 27.0 S5.00 S0.00 S135.00 Vew Transactions	Cazadore Repo	\$8.00	36.0	\$8.00	\$0.00	\$288.00	View Transactions
STALL S1.00 27.0 S1.00 S0.00 S77.00 View Transactions	Titos	\$7.00	28.0	\$7.00	\$0.00	\$196.00	View Transactions
Jack Daniels S7.00 25.0 S7.00 S0.00 S175.00 View Transactions	BUD LT BTL	\$5.00	27.0	\$5.00	\$0.00	\$135.00	View Transactions
Second S	\$TALL	\$1.00	27.0	\$1.00	\$0.00	\$27.00	View Transactions
Kamazai Flavored \$7.50 24.0 \$7.50 \$0.00 \$180.00 View Transactions Casamigos Repo \$12.00 23.0 \$12.00 \$0.00 \$276.00 View Transactions Track 7 \$6.00 20.0 \$6.00 \$0.00 \$112.00 View Transactions Jim Beam \$6.00 19.0 \$6.00 \$0.00 \$114.00 View Transactions White Russian \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions Washington apple \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions PBR \$6.00 17.0 \$12.00 \$0.00 \$90.00 View Transactions Well Whiksey (Well Whiksey) \$5.00 15.0 \$5.00 \$0.00 \$75.00 View Transactions Peanuts \$1.00 15.0 \$6.00 \$0.00 \$79.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$78.00 View Transactions CORONA BTL	Jack Daniels	\$7.00	25.0	\$7.00	\$0.00	\$175.00	View Transactions
Casamigos Repo \$12.00 23.0 \$12.00 \$0.00 \$276.00 View Transactions Track 7 \$6.00 20.0 \$6.00 \$0.00 \$120.00 View Transactions Jim Beam \$6.00 19.0 \$6.00 \$0.00 \$114.00 View Transactions White Russian \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions Washington apple \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions PBR \$6.00 17.0 \$12.00 \$0.00 \$204.00 View Transactions Well Whiksey (Well Whiksey) \$5.00 15.0 \$6.00 \$0.00 \$75.00 View Transactions Woodbridge (Woodbridge) \$6.00 15.0 \$6.00 \$0.00 \$75.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Fireball	\$6.00	24.0	\$6.00	\$0.00	\$144.00	View Transactions
Track 7 \$6.00 20.0 \$6.00 \$0.00 \$120.00 View Transactions Jim Beam \$6.00 19.0 \$6.00 \$0.00 \$114.00 View Transactions White Russian \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions Washington apple \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions PBR \$6.00 17.0 \$12.00 \$0.00 \$96.00 View Transactions Well Whiksey (Well Whiksey) \$5.00 15.0 \$5.00 \$0.00 \$96.00 View Transactions Peanuts \$1.00 15.0 \$6.00 \$0.00 \$90.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Kamazai Flavored	\$7.50	24.0	\$7.50	\$0.00	\$180.00	View Transactions
Jim Beam S6.00 19.0 S6.00 S0.00 S114.00 View Transactions	Casamigos Repo	\$12.00	23.0	\$12.00	\$0.00	\$276.00	View Transactions
White Russian \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions Washington apple \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions Hennessy \$12.00 17.0 \$12.00 \$0.00 \$204.00 View Transactions PBR \$6.00 16.0 \$6.00 \$0.00 \$96.00 View Transactions Well Whiksey (Well Whiksey) \$5.00 15.0 \$5.00 \$0.00 \$75.00 View Transactions Woodbridge (Woodbridge) \$6.00 15.0 \$6.00 \$0.00 \$90.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Track 7	\$6.00	20.0	\$6.00	\$0.00	\$120.00	View Transactions
Washington apple \$8.00 18.0 \$8.00 \$0.00 \$144.00 View Transactions Hennessy \$12.00 17.0 \$12.00 \$0.00 \$204.00 View Transactions PBR \$6.00 16.0 \$6.00 \$0.00 \$96.00 View Transactions Well Whiksey (Well Whiksey) \$5.00 15.0 \$5.00 \$0.00 \$75.00 View Transactions Woodbridge (Woodbridge) \$6.00 15.0 \$6.00 \$0.00 \$90.00 View Transactions Peanuts \$1.00 15.0 \$1.00 \$0.00 \$770.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Jim Beam	\$6.00	19.0	\$6.00	\$0.00	\$114.00	View Transactions
Hennessy	White Russian	\$8.00	18.0	\$8.00	\$0.00	\$144.00	View Transactions
PBR \$6.00 16.0 \$6.00 \$0.00 \$96.00 View Transactions Well Whiksey (Well Whiksey) \$5.00 15.0 \$5.00 \$0.00 \$75.00 View Transactions Woodbridge (Woodbridge) \$6.00 15.0 \$6.00 \$0.00 \$90.00 View Transactions Peanuts \$1.00 15.0 \$1.00 \$0.00 \$15.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$70.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Washington apple	\$8.00	18.0	\$8.00	\$0.00	\$144.00	View Transactions
Well Whiksey (Well Whiksey) \$5.00 15.0 \$5.00 \$0.00 \$75.00 View Transactions Woodbridge (Woodbridge) \$6.00 15.0 \$6.00 \$0.00 \$90.00 View Transactions Peanuts \$1.00 15.0 \$1.00 \$0.00 \$15.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$70.00 View Transactions HEINEKEN \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Hennessy	\$12.00	17.0	\$12.00	\$0.00	\$204.00	View Transactions
Woodbridge (Woodbridge) \$6.00 15.0 \$6.00 \$0.00 \$90.00 View Transactions Peanuts \$1.00 15.0 \$1.00 \$0.00 \$15.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$70.00 View Transactions HEINEKEN \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	PBR	\$6.00	16.0	\$6.00	\$0.00	\$96.00	View Transactions
Peanuts \$1.00 15.0 \$1.00 \$0.00 \$15.00 View Transactions HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$70.00 View Transactions HEINEKEN \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Well Whiksey (Well Whiksey)	\$5.00	15.0	\$5.00	\$0.00	\$75.00	View Transactions
HIGH LIFE \$5.00 14.0 \$5.00 \$0.00 \$70.00 View Transactions HEINEKEN \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Woodbridge (Woodbridge)	\$6.00	15.0	\$6.00	\$0.00	\$90.00	View Transactions
HEINEKEN \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	Peanuts	\$1.00	15.0	\$1.00	\$0.00	\$15.00	View Transactions
CORONA BTL \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	HIGH LIFE	\$5.00	14.0	\$5.00	\$0.00	\$70.00	View Transactions
	HEINEKEN	\$6.00	13.0	\$6.00	\$0.00	\$78.00	View Transactions
Revision Draft \$6.00 13.0 \$6.00 \$0.00 \$78.00 View Transactions	CORONA BTL	\$6.00	13.0	\$6.00	\$0.00	\$78.00	View Transactions
	Revision Draft	\$6.00	13.0	\$6.00	\$0.00	\$78.00	View Transactions

Kamakazi Well	\$6.50	12.0	\$6.75	\$0.00	\$81.00	View Transactions
Ketel One	\$7.50	11.0	\$7.50	\$0.00	\$82.50	View Transactions
Cazadore Blanco	\$7.00	10.0	\$7.00	\$0.00	\$70.00	View Transactions
WELL WHISKY	\$5.00	10.0	\$5.00	\$0.00	\$50.00	View Transactions
MODELO	\$6.00	9.0	\$6.00	\$0.00	\$54.00	View Transactions
Smirnoff	\$6.00	9.0	\$6.00	\$0.00	\$54.00	View Transactions
Smirnoff Jolly Rancher	\$6.00	9.0	\$6.00	\$0.00	\$54.00	View Transactions
CAPTAIN MORGAN	\$6.00	9.0	\$6.00	\$0.00	\$54.00	View Transactions
Screwball	\$7.00	9.0	\$7.00	\$0.00	\$63.00	View Transactions
Well Tequila (Well Tequila)	\$5.00	9.0	\$5.00	\$0.00	\$45.00	View Transactions
Wild Turkey 101	\$7.00	8.0	\$7.00	\$0.00	\$56.00	View Transactions
Don Julio Repo	\$12.00	8.0	\$12.00	\$0.00	\$96.00	View Transactions
CAROLANS	\$6.00	8.0	\$6.00	\$0.00	\$48.00	View Transactions
STELLA	\$6.00	8.0	\$6.00	\$0.00	\$48.00	View Transactions
WELL TEQUILA	\$5.00	8.0	\$5.00	\$0.00	\$40.00	View Transactions
\$BLOODY	\$3.00	7.0	\$3.00	\$0.00	\$21.00	View Transactions
\$ADD RED BULL	\$2.00	7.0	\$2.21	\$0.00	\$15.50	View Transactions
Bullett	\$8.00	7.0	\$8.00	\$0.00	\$56.00	View Transactions
Patron Silver	\$10.00	6.0	\$10.00	\$0.00	\$60.00	View Transactions
JAGER	\$7.00	6.0	\$7.00	\$0.00	\$42.00	View Transactions
Coffee	\$3.00	6.0	\$3.00	\$0.00	\$18.00	View Transactions
WELL RUM	\$5.00	6.0	\$5.00	\$0.00	\$30.00	View Transactions
\$MAR GAR RITA	\$3.00	6.0	\$3.00	\$0.00	\$18.00	View Transactions
WELL GIN	\$5.00	5.0	\$5.00	\$0.00	\$25.00	View Transactions
Long Island (Long Island)	\$11.00	5.0	\$11.00	\$0.00	\$55.00	View Transactions
PROPER 12	\$7.00	5.0	\$7.00	\$0.00	\$35.00	View Transactions
Malibu	\$6.50	5.0	\$6.50	\$0.00	\$32.50	View Transactions
Skyy	\$6.00	5.0	\$6.00	\$0.00	\$30.00	View Transactions
Seagrams 7	\$6.50	5.0	\$6.50	\$0.00	\$32.50	View Transactions
BACARDI	\$6.00	5.0	\$6.00	\$0.00	\$30.00	View Transactions

Crown Royal	\$8.00	5.0	\$8.00	\$0.00	\$40.00	View Transactions
Makers Mark	\$8.00	4.0	\$8.00	\$0.00	\$32.00	View Transactions
Absolut	\$7.00	4.0	\$7.00	\$0.00	\$28.00	View Transactions
Meyers Rum	\$7.00	4.0	\$7.00	\$0.00	\$28.00	View Transactions
Ice Tea (Ice Tea)	\$6.00	4.0	\$6.00	\$0.00	\$24.00	View Transactions
Well Gin (Well Gin)	\$5.00	4.0	\$5.00	\$0.00	\$20.00	View Transactions
HEINEKEN 00	\$6.00	4.0	\$6.00	\$0.00	\$24.00	View Transactions
805	\$6.00	4.0	\$6.00	\$0.00	\$24.00	View Transactions
COORS BANQUET	\$5.00	3.0	\$5.00	\$0.00	\$15.00	View Transactions
\$MAR TINI	\$2.00	3.0	\$2.00	\$0.00	\$6.00	View Transactions
MILLER LT BTL	\$5.00	3.0	\$5.00	\$0.00	\$15.00	View Transactions
Soda	\$3.00	3.0	\$3.00	\$0.00	\$9.00	View Transactions
Champagne (Champagne)	\$6.00	3.0	\$6.00	\$0.00	\$18.00	View Transactions
White Claw	\$6.00	3.0	\$6.00	\$0.00	\$18.00	View Transactions
Mudslide	\$8.00	3.0	\$8.00	\$0.00	\$24.00	View Transactions
Pineapple Upside Down (Pineapple Upside Down)	\$7.00	3.0	\$7.00	\$0.00	\$21.00	View Transactions
Schnapps	\$6.00	3.0	\$6.00	\$0.00	\$18.00	View Transactions
Baileys	\$7.50	3.0	\$7.17	\$0.00	\$21.50	View Transactions
Grand Marnier	\$9.00	3.0	\$9.00	\$0.00	\$27.00	View Transactions
Jose Cuervo GOLD	\$6.50	3.0	\$6.50	\$0.00	\$19.50	View Transactions
Jose Cuervo Silver	\$6.50	3.0	\$6.50	\$0.00	\$19.50	View Transactions
Gentleman Jack	\$10.00	2.0	\$10.00	\$0.00	\$20.00	View Transactions
Bombay Sapphire	\$7.00	2.0	\$7.00	\$0.00	\$14.00	View Transactions
Rumple Minze	\$7.00	2.0	\$7.00	\$0.00	\$14.00	View Transactions
Don JuLlio Blanco	\$10.00	2.0	\$10.00	\$0.00	\$20.00	View Transactions
Di Chatta (Di Chatta)	\$7.00	2.0	\$7.00	\$0.00	\$14.00	View Transactions
Karie berry	\$7.50	2.0	\$7.50	\$0.00	\$15.00	View Transactions
ANGRY ORCHARD	\$6.00	2.0	\$6.00	\$0.00	\$12.00	View Transactions
LAGUNITAS IPA	\$6.00	2.0	\$6.00	\$0.00	\$12.00	View Transactions
SIERRA NEVADA	\$6.00	2.0	\$6.00	\$0.00	\$12.00	View Transactions

GUINNESS	\$6.00	1.0	\$6.00	\$0.00	\$6.00	View Transactions
HIGH LIFE	\$5.00	1.0	\$5.00	\$0.00	\$5.00	View Transactions
Well Margarita	\$8.00	1.0	\$8.00	\$0.00	\$8.00	View Transactions
CHOC CAKE	\$7.50	1.0	\$7.50	\$0.00	\$7.50	View Transactions
\$ MULE	\$3.50	1.0	\$3.50	\$0.00	\$3.50	View Transactions
Red Bull	\$5.00	1.0	\$5.00	\$0.00	\$5.00	View Transactions
Irish Coffee (Irish Coffee)	\$8.00	1.0	\$8.00	\$0.00	\$8.00	View Transactions
Jaeger Bomb (Jaeger Bomb)	\$9.00	1.0	\$9.00	\$0.00	\$9.00	View Transactions
Sex on the Beach (Sex on the Beach)	\$9.00	1.0	\$9.00	\$0.00	\$9.00	View Transactions
\$Old Fashion	\$2.50	1.0	\$2.50	\$0.00	\$2.50	View Transactions
Mimosa (Mimosa)	\$6.00	1.0	\$6.00	\$0.00	\$6.00	View Transactions
Adios MF (Adios MF)	\$11.00	1.0	\$11.00	\$0.00	\$11.00	View Transactions
B52 (B52)	\$10.00	1.0	\$10.00	\$0.00	\$10.00	View Transactions
Blow Job (Blow Job)	\$8.00	1.0	\$8.00	\$0.00	\$8.00	View Transactions
Johnny Walker Red (Johnny Walker Red)	\$10.00	1.0	\$10.00	\$0.00	\$10.00	View Transactions
Tanqeuray Gin	\$7.00	1.0	\$7.00	\$0.00	\$7.00	View Transactions
Blue Curaco	\$5.00	1.0	\$5.00	\$0.00	\$5.00	View Transactions
Bullett Rye	\$9.00	1.0	\$9.00	\$0.00	\$9.00	View Transactions
Custom Items / Fee		0.0	\$0.00	\$0.00	\$0.00	
TOTALS		1315	\$5.89	\$0.00	\$7,746.00	